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1. Find the value of 2.૟ഥ – 0.ഥૢ 

2. Simplify : 5 √૛૞૙
૜

  + 7 √૚૟
૜   - 14 √૞૝

૜
 

3. Express 0. ૛૜૞തതതത in the form 
࢖

ࢗ
, where P and q are integers and q ് o 

4. If a = 9 and b = √૚ૠ then find the value of (a2 – b2)1/3 
5. Express the rational number 1/13 in decimal form and hence, find the decimal expansion 

 of 4 
૝

૚૜
. 

6. By taking 3.141 = ࣊, evaluate 
૛࣊ା૜√૛

૞
 upto three places of decimal. 

7. if (√૟)n = 216, then find the value of ࢔૜/૛ 

8. Which of the following is greater: 
૚૛

√૛
 or 

૚ૡ

√૜
 ? 

9. Find the value of x if ሺ૞૛ሻૠ = (125)x 

10. Find an irrational number between 
૚

ૠ
 and 

૛

ૠ
. 

NTSE Based Question 
1. The value of (81)0.17 ൈ (81)0.08 is 
 (a) 4   (b) 3    (c) 9    (d) 81.25 
2. If 42y = 256 then 4-y equals 

 (a) 
ଵ

ଵ଺
   (b) 

ିଵ

ଵ଺
    (c) 16    (d) 

ଵ

ସ
 

3. The value of { 3-2(7-8)5}5 is 

 (a) 625   (b) 
ଵ

ହఱ
    (c) 1    (d) 3125 

4. The rationalizing factor of ૞√ࢇ૛࢈૜ࢉ૝ is. 

 (a) 5√ܽଷܾଶܿ  (b) 4√ܽଷܾଶܿ  (c) 3√ܽଷܾଶܿ   (d) √ܽଷܾଶܿ 

5. Rational number between √૛ and √૜ is  

 (a) √
ଶା√ଷ	

ଶ
   (b) √

ଶൈ√ଷ

ଶ
   (c) 1.5   (d) 1.8 

6. If m = 
࢈ࢇ࡯

࢈ିࢇ
, then a equals 

 (a) 
௠ሺ௔ି௕ሻ

௖௔
																						ሺܾሻ

஼௔௕ି௠௔

ି௠
																											ሺܿሻ

ଵ

ଵା஼
																																	ሺ݀ሻ

௠௔

௠ା௖௔
 



 

 

7. The value of  ቆ√૛ૠ
૟ െ ට૟

૜

૝
ቇ
૛

 equals. 

 (a) √
ଷ

ଶ
   (b) 

ଷ

ଶ
    (c) √

ଷ

ସ
     (d) 

ଷ

ସ
 

8. The rational number between 
૚

૛
 and 

૚

૜
 is  

 (a) 
ଶ

ହ
   (b) 

ଵ

ହ
    (c) 

ଷ

ହ
     (d) 

ସ

ହ
 

9. Simplify 
૛࢔శ૝ି૛ሺ૛࢔ሻ

૛ሺ૛࢔శ૜ሻ
 

 (a) 2௡ାଵ െ
ଵ

଼
																						ሺܾሻെ2௡ାଵ																												ሺܿሻ1 െ 2௡																																					ሺ݀ሻ

଻

଼
 

10. If (a+
૚

ࢇ
)2 =9 then a3 + 

૚

૜ࢇ
 equals 

 (a) √ଷ
భబ

ଷ
   (b) 3√3   (c) 18     (d) 7√7 

11. If 25x-1 = 52x-1-100 then the value of x is  
 (a) 3   (b) 2    (c) 4     (d) 1 

12. If x = 2-√૜ then the value of x2 + 
૚

૛࢞
 and x2-

૚

૛࢞
 respectively are. 

 (a) 14, 8 √3  (b) -14, -8 √3  (c) 14, -8 √3   (d) -14, 8 √3 
13. If 444 + 444 + 444 ++ 444 = 4x then x is 
 (a) 45   (b) 44    (c) 176    (d) 11 
14. Which of the following numbers can be represented as non  - terminating repeating 
 decimals? 

 (a) 
ଷଽ

ଶସ
																																ሺܾሻ

ଷ

ଵ଺
																																			ሺܿሻ

ଷ

ଵଵ
																																										ሺ݀ሻ

ଵଷ଻

ଶହ
 

15. Which of the following numbers has the terminating decimal representation? 

 (a) 
ଵ

଻
																																		ሺܾሻ

ଵ

ଷ
																																						ሺܿሻ

ଷ

ହ
																																												ሺ݀ሻ

଻

ଷ
 

16. If g = t2/3 + 4 t -1/2 what is the value of g when t = 64? 

 (a)
ଷଵ

ଶ
																																		ሺܾሻ

ଷଷ

ଶ
																																				ሺܿሻ

ଶହ଻

ଵ଺
																																								ሺ݀ሻ16 

17. If x = 9 + 4 √૞ find the value of √࢞ - 
૚

࢞√
  

 (a) 1    (b) 2    (c) 3    (d) 4 

18. The smallest rational number by which 
૚

૜
 should be multiplied so that its decimal 

expansion terminates after one place of decimal is 

 (a) 
ଷ

ଵ଴଴
    (b) 

ଷ

ଵ଴
    (c) 3    (d) 30 

19. Evaluate : ሺ૛ૠሻି
૚
૜	. ሺ૛ૠሻି

૚
૜	ሾ	ሺ૛ૠሻ

૚
૜ - (27)2/3]   

 (a) 
ିଶ

ଷ
    (b) 

ଵ

ଷ
     (c) 

ିଵ

ଷ
    (d) 

ଶ

ଷ
 



 

 

20. Find the value of 
૝

ሺ૛૚૟ሻ
ష૛
૜

 - 
૚

ሺ૛૞૟ሻ
ష૜
૝

 

 (a) 144    (b) 64    (c) 80    (d) 36 

21. Find the value of 
൫ࢇ࢞శ࢈൯

૛
	൫࢈࢞శࢉ൯

૛
ሺࢉ࢞శࢇሻ૛

൫ࢉ࢞࢈࢞ࢇ࢞൯
૝  

 (a) 1    (b) 4    (c) -1    (d) 2 

22. If 35x ൈ 
ૡ૚૛ࢄ૟૞૟૚

૜૛࢞
 = 37 then x = 

 (a) 3    (b) -3    (c) 
ଵ

ଷ
    (d) 

ିଵ

ଷ
 

23. If x = 
√૜ା૚

૛
 then x3 + 

૚

૜࢞
 =  

 (a) 
ଶ଼√ଷାଵହ

଼
   (b) 

ଶ଻√ଷିଷହ

ସ
   (c) 

ଶ଼√ଷିଵହ

଼
   (d) 

ଶ଻√ଷାଷହ

ସ
 

24. If x =  
ඥ࢖ାࢗା	ඥࢗି࢖

ඥ࢖ାିࢗ	ඥࢗି࢖
 Then find the value of qx2 - 2px +q 

 (a) 0    (b) 1    (c) -1    (d) 2 

25. If a = 
√૛ା૚

√૛ି૚
 and b = 

√૛ି૚

√૛ା૚
 then value of  a2 + ab + b2 is 

 (a) 70    (b) 35    (c) 40    (d) 34 



 

 

 

 
    SUMMER HOLIDAY WORK 

   CLASS – 9th         Subject – Physics  

Q.1 The velocity of a body moving at an initial speed of 20m/s and having an 

 acceleration of 4 m/࢙૛ after 2 sec. will be:- 

 a. 24m/s  b. 28m/s  c. 32m/s  d. 40m/s 

Q.2 A body moving uniformly along a circular path has :- 

 a. constant velocity   b. constant speed 

 c. variable speed    d. none of these. 

Q.3 The distance travelled by a body in certain time is equal to the ____ under 

 the velocity – time graph for the given time interval. 

Q.4 The magnitude of average velocity is always __ than or equal to the average 

 speed. 

Q.5 Tick true or false:- 

 a. The velocity of an object can be uniform or variable. 

 b. The slope of a speed – time graph of a moving body gives its acceleration. 

 c. Negative value of acceleration shows that velocity of the body is      

 increasing. 

Q.6 The following questions consist of two statements- 

 Assertion (A) and Reason ( R) . Answer these questions selecting the 

 appropriate options given below:- 

 a. Both A and R are true and R is the correct explanation of A. 



 

 

 b. Both A and R are true but R is not correct explanation of A. 

 c. A is true but R is false. 

 d. A is false but R is true. 

i. Assertion (A) : A body on a circular path is accelerated. 

      Reason (R ) : The motion of a body on circular path is under gravity. 

ii. Assertion (A) : The displacement of a body may be zero, when distance  

       travelled by it is non-zero. 

       Reason (R ) : Displacement is the longest distance between initial and final  

      positions. 

Q.7 Under what condition the magnitude of average velocity is equal to the   

 average speed. 

Q.8 Give the other name of  negative acceleration. 

Q.9 A body moves in a circular path with uniform speed. Does its velocity 

 change, if so, how? 

Q.10 What is SI unit of velocity? 

Q.11 What do you mean by acceleration Derive relation S= ut + 
૚

૛
 a࢚૛. 

Q.12 Define uniform circular motion. 

Q.13 Using velocity – time graph derive:- ࢜૛ െ	࢛૛	= 2as. 

Q.14 An object undergoes an acceleration of 10m/࢙૛ starting from rest. Find the 

 distance travelled in 5s. 

Q.15 A train starting from rest attains a velocity of 72kmିࢎ૚ in 5 min. 

 Assuming that the acceleration is uniform, Find :- i. Acceleration  

 ii. The distance travelled by the train for attaining this velocity. 



 

 

Q.16  A bullet moving with 10m/s hits a wooden plank. The bullet stops after 

 penetrating the plank 2cm deep. Calculate the retardation of the bullet. 

Q.17 An object starting from rest travels 20m in first 2s and 160m in next 4s. 

 What will be the velocity after 7s from the start? 

Q.18 What is the nature of distance - time graphs for uniform and non- uniform 

 motion of an object? 

Q.19 What is the quantity which is measured by the area occupied below the 

 velocity-time graph? 

Q.20 A car has a uniform acceleration of 4mି࢙૛. What distance will it cover in 

 10s after start? 

Q.21 An athlete completes one round of a circular track of diameter 200m in 

 40sec. What will be the distance covered and the displacement at the end of 

 2min and 20 seconds? 

Q.22 Abdul while walking to school computes the average speed for his trip to be 

 20km/ିࢎ૚. On his return trip along the same route, there is less traffic and 

 average speed is 30km/ିࢎ૚. What is average speed for Abdul’s trip? 

Q.23 A ball is dropped gently from a height 10m. If its velocity increases 

 uniformly at the rate of 20m/ି࢙૛, with what velocity will it strike to the 

 ground? After what time will it strike the ground? 

Q.24 How will equation of motions moving with a constant velocity will change? 

Q.25 Prachi rides her bicycle along a straight level road. Fig shows agraph of her 

 distance moved against time. 

 a. Describe her motion:-   i. from A to B 

       ii. from B to C 

       iii. from C to D 



 

 

b. Calculate:-   

 i. her average speed from A to D. 

 ii. her maximum speed. 

 

 

 

 

 



 

 

 

Unit Test - IV  
Class – 9th           Subject : S.St NTSE   
Max Marks:20         Time     : 1 Hour 
 

1- Hkkjr dk lcls iwohZ ns”kkarj dkSu&lk gSa\ 

v½ 970 25* iw0        c½ 770 6* iw0         l½ 680 7* iw0          n½ 820 32* iw0  

2- ddZ js[kk fdl jkT; ls ugh xqtjrh gS\ 

v½ jkTkLFkku  c½ mM+hlk  l½ Nrhlx<+       n½ gfj;k.kk 

3- mÙkj ls nf{k.k Hkkjr dh dqy yackbZ fdruh gS\ 

v½ 2214 fd0eh0 c½ 3214 fd0eh0      l½ 4214 fd0eh0  n½ 5214 fd0eh0 

4- Hkkjr esa xaxk dh dqy yackbZ fdrus fd0eh0 gS\ 

v½ 2025 fd0e0    c½ 3125 fd0eh0        l½ 2525 fd0eh0       n½ 5225 fd0eh0 

5- xzh’ekodk”k esa vki ;fn dojÙkh tkuk pkgrs gS rks fdl dsUnz “kkflr {ks= esa tk,¡xsa\ 

v½ y{k}hi  c½ vaMseku vkSj fudksckj  l½ iqaMqpsjh  n½ }ho vkSj neu 

6- yqbZ lksgyos dks Qzkal dk lezkV dc cuk;k x;k Fkk\ 

v½ 1674 esa  c½ 1774 esa   l½ 1874 esa  n½ 1947 esa 

7- lu~ 1715 esa Qzkal dh dqy tula[;k fdrus djksM+ Fkh\	

v½ 2-3 djksM+         c½ 3-8 djksM+         l½ 4-3 djksM+      n½ 5-3 djksM+ 

8- ,LVsVl tsujky dh cSBd dc cqykbZ xbZ Fkh\	

v½ 5 ebZ 1789   c½ 5 ebZ 1689         l½ 5 ebZ 1889       n½ 5 ebZ 1989 

9- Qzkal esa uS”kuy vlsacyh us lafo/kku dk iwjk izk:I rS;kj dc fd;k FkkA	

v½ lu~ 1591 esa      c½ lu~ 1691 esa  l½ lu~ 1791 esa      n½ lu~ 1891 esa 

10- yqbZ 16 osa dks Qkalh dc nh xbZ\	

v½ 21 tuojh 1593    c½ 21 tuojh 1693     l½ 21 tuojh 1793      n½ 21 tuojh 1893 
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